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a =09+20+2.1 cm = 5.0 cm
b=18+50+1.2 cm = 8.0 cm 12 em
= (5.0 cm)(8.0 cm) = 40.0 cm?
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= (0.9 cm) + %(2.0 cm) = 1.9 cm 1.8 em
1 * 7
=(1.8cm) + =(B.0cm =43 cm 0.9 cm
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A = (40.0 cm® + (-10.0 cm® = 30.0 cm®
S(zA4) = (2.5 cm)(40.0 cm? + (1.9 cm)(-10.0 cm? = 81.0 cm®
S(yA4) = (4.0 cm)(40.0 cm®) + (4.3 cm)(-10.0 cm?) = 117.0 cm®
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S = 30.0 om? = 3.90 cm
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%(5.0 em)(8.0 em)® + (40.0 cm?)(4.0-3.9 cm)?
213.73 cm*
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%(2.0 cm)(5.0 cm)? + (10.0 cm?)(4.3-3.9 cm)? e . T
22.43 cm* !
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(213.73 cm®) - (22.43 cm®) = 191.3 cm? 1‘8fm |
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= %(5.0 cm)®(8.0 cm) + (40.0 cm?)(2.7-2.5 cm)? = 84.93 cm*
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(84.93 cm") - (9.73 ecm?) = 75.2 cm?

ot Aydi = 520 emP(5.0 en) + (10.0 em)(2.7-1.9 em)? = 9.73 e’



